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付 近 見 取 図　S＝1：500　(施設平面図No.24-1)
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マンホール詳細図　(右岸幹線 NO.34)
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平面図 S=1:20

B - B 断面図 S=1:50

付 近 見 取 図　S＝1：500　(施設平面図No.24-1)

A - A 断面図 S=1:50
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マンホール詳細図　(右岸幹線 NO.35)
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B - B 断面図 S=1:50

付 近 見 取 図　S＝1：500　(施設平面図No.24-2)
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マンホール詳細図　(右岸幹線 NO.36)
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B - B 断面図 S=1:50

付 近 見 取 図　S＝1：500　(施設平面図No.24-2)

A - A 断面図 S=1:50
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マンホール詳細図　(右岸幹線 NO.37)
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B - B 断面図 S=1:50

付 近 見 取 図　S＝1：500　(施設平面図No.25)

A - A 断面図 S=1:50
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マンホール詳細図　(右岸幹線 NO.38)

調 整
年 月

ページ

39

月

年

3

平 成

元

B - B 断面図 S=1:50

付 近 見 取 図　S＝1：500　(施設平面図No.25)
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マンホール詳細図　(右岸幹線 NO.39)
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B - B 断面図 S=1:50

付 近 見 取 図　S＝1：500　(施設平面図No.26)
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マンホール詳細図　(右岸幹線 NO.40)
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